INEFHT  ERALT

MEERES 19 |HEEREH |BRRE FREEH  [/DEFHTEHMET-2-28
W E
AT BT 4 B X BEBRE
Jiibo k] Ko$E ANE F/AR(HRE) | AENEEY/ -
%4 & TR RER P
ERERML AN N FHATIRR R BRI GBI MEAT AR A
=i -
N e | BB —
LB EEBEME| EEEE |HEEEER[HASH BHATXZ=X
B mEiE 1247999 i | FRARE HIEH
Tt FHik s F—REREEERAME ERRE®) 30
Z DR | — BHEE®) 60
L 285 AERE il hE — T —
@i ERER 17679 m EZT: ssatE3f | F@iE  [smovou—rmAER] sof |[masg| 4E
T AN R %R ®xtit  [PCBXRRR WinFH | TDEENE ESsi
YT ISRR K5t |LEDM DR Rt | ABEHEFEOHEIKR BRE
WX NEEER (B FM) EEIA
SHBEE | STUEE | ST5FE | hHiETFY | 1,000,000
AR 700 507 429 —
EERA  [£0k 0 0 0 21 500,000 A.ﬁ
At 700 507 429 429
B 1,983 0 33 — o
IS8 9,680 0 0 — ‘ ‘
: E3:4 £ 5 £3:4
SRR E 137 140 127 — © . HM "
ENEERR 5,483 6,761 6,793 = 30,000,000 by
B R TEH 0 0 0 —
== X8 0 0 0 21 20,000,000 T
fEE BN 0 0 0 —
)\ﬁ-% o 0 o g 10,000,000 +——
Z Dt 3,498 5,183 5,170 — 0 : :
At Ex] 20,782 12,083 12,123 12,123 RIFEE  RAEEE RS
& Ex) 20,082 A11,577 A11,694 A11,694 ERFIBAAZK
=Y (F1/nf) A113,590 A\65,483 66,145 66,145 15,000
W H B E R R 10,000 -
SIBEE | SHUEE | SHSFE | FoETFY | ° ——e-
EEFI A B 9,702 7877 6,079 6,079| 5,000
arsg SE [ FI| FR 14 3 9,702 7877 6,079 6,079
FIAIKR Wi - 0 ‘ ‘ ‘
BREOEE RIE[E RAEFE RS4EFE
ERRERLK £8 - R LISHFI R a [REEEREE] =
RIS {3 FRFHEIR i fERRR R EE " FERHBAEELT NEFTHIRRREREHIETHRAFESE
FAEREE |-
BREHEE
B -REGILEGTE k-l AEEREFE SH2EE HESFEFEHFE -
EHESIEETE A EiEFEEE SM12EEFET|HE -
T/ EEs [EEELTEOER = BELFREE - WE -
ESHEF [ EREAODEEOHE = BT RDEE - W -
tRZ R DA & " =L MR E - IsfE(TE%) -
MEIEOERERKR REH |MEIEEEFE)EE - ofE (TE%) -
|_JicE:Exiil WiREX
EYikee/ N
BBEH l‘
3 I
RSV ? iy .
TR - B e A
1 = e T BB EHER fim
_Q:
_ 1
1
aZ b - | A A -
) /< “ a
- W
TR/ #B
RSEE

SH6ERE

Ver,1.0



